
S
M

S
 F

L
A

T
S

C
R

E
E

N
 H

2
 U

N
IS

L
ID

E
MANUAL

PL210220-PL210221



2

SMS Flatscreen H2 Unislide

     10 mm 

A    

B              

C

A   Central Plate        

B   Bar Left                

C   Bar Right             

E   Multiple Washer   

F   Screw M6x10       

G   Washer 6,4           

H   Screw M6x25        

I    Nut M6                  

1      

1      

1      

4

4      

4      

2      

2      

D         Adapter Plate 1      

D

E

H

I

G
F

J   Screw Bag             1      

Screw M6x16 4 

Screw M6x30 4 

Screw M8x20 4

Screw M8x40 4

Plastic Spacer 8,2/15x15 4

Plastic Spacer 8,2/15x10 4

A    

G

F

D

B              

C

E



3

C
B

E

SMS Flatscreen H2 Unislide

H

I

H

I



4

2
0

1
0

-0
4

-1
4

www.SmartMediaSolutions.se
SMS Smart Media Solutions AB, Hästholmsvägen 32, SE-131 30 Nacka, +46 (0)8 448 26 60

SMS Flatscreen H2 Unislide


